Multiplication d'un Monome par Deux Binomes (H)
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Simplifiez chaque expression.

2d*(—9d° — 5d*)(8d* + d®)

3¢°(2¢° — 4¢%)(=3¢% + 29)

3. —2° 3z 4+ 72%) (—5z — 2)

- 9¢°(—g” — 9)(—6g> — 8g”)

Txt(—4at — 423)(=32° + 92%)

—6c*(c* 4 6¢%) (—8c° — ¢?)

- —5¢*(=8¢" = 3¢°)(—=7q — 5)

8y(—y” — 8y")(9y' + ¢

—2t(3t* — 4¢%)(—6t° — 617)

93 (7¢% — 6¢)(2¢% — 4cP)
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Multiplication d’'un Monome par Deux Binomes (H)
Réponses

Ot

=~

8.
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Simplifiez chaque expression.

- 2d*(—9d® — 5d*)(8d* + d®)

— —144d" — 984" — 104!

3¢°(2¢° — 4¢°)(—3¢" + 2q)
= —18¢% 4+ 48¢" — 244"

—2°(32* + 72%) (=5 — 2)
= 152" + 4127 + 1428

- 99°(—¢* — 9)(—6g° — 8¢%)

= 54¢° 4+ 12697 + 724°

Tat(—4a* — 42°)(=32° + 92*)
— 841 — 168z'? — 252211

—6c(c* + 6¢%) (=8¢ — 2)
— 48cM + 294¢'Y + 36¢°

—5¢"(—8¢" — 3¢’)(—=7¢ — 5)
= —280¢" — 305¢® — 75¢"

8y(—y° — 8y")(9y* + °)
= —72y10 — 5844° — 644°

—2t(3t* — 4t%)(—6t* — 6t%)
= 36t° — 121° — 48t

- 9¢3(7c* — 6¢)(2¢ — 4c?)

= 126¢% — 360¢” + 216c°
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